Kuta Software - Infinite Algebra 2
Function Operations

Perform the indicated operation.

1) g(n)=n2+4+2n
h(n)=-3n+2
Find (g - h)(1)

3) h(x)=3x+3
g(x) =—4x+1
Find (h + ¢)(10)

5) g(x) =2x-5
h(x)=4x+5
Find g(3) — h(3)

7 gt)=1"+3
h(r)=4r-3
Find (g - h)(-1)

9) g(x) =—x>—1-2x
flx)=x+5
Find (g - f)(x)

11) gla)=-3a-3
f(a) =a*+5
Find (g - £ )(a)

Name
Date
2) flx)=4x-3
g(x) =x°+2x

Find (f — g)(4)

4) g(a)=3a+2
f(a)=2a—4

Find (?)(3)

6) g(a) =2a-1
ha) =3a-3
Find (g - h)(—4)

8) g(n) =3n+2
f (n) =2n*+5
Find g(f(2))

10) f(x)=3x-1
g(x) =x’—x

Find (i)(x)

8

12) h(r) =21+ 1
gt)=2r+2
Find (h — g)(¢)

Period



13) f(x)=2x>-5x2

g(x) =2x-1
Find (f - ¢)(x)

15) g(a) =-3a*-a
hla)=-2a -4

Find (%)(a)

17) h(a) = 3a
gla)=—-a’ -3

Find (ﬁ)(a)

8

19) h(x)=x*-2
g(x) =4x+1
Find (h o g)(x)

21) glx)=2x-2
f(x) =x% + 3x

Find (go f)(-2 + x)

14) h(n)=4n+5
g(n) =3n+4
Find (h — g)(n)

16) f(n)=2n
gln)=-n-4
Find (f © g)(n)

20) glr)=2t+5
flo)=—1*+5
Find (g + f)(r)

22) gla)=2a+2
ha)=-2a-5

Find (g o h)(—4 + a)
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Perform the indicated operation.

1) g(n)=n2+4+2n

h(n)=-3n+2
Find (g - h)(1)
—7

3) h(x)=3x+3
g(x) =—4x+1
Find (h + ¢)(10)

-6

5) g(x) =2x-5
h(x)=4x+5
Find g(3) — h(3)

-16

7 gt)=*+3

h(t) = 41 -3
Find (g - h)(-1)
-28

9) g(x):—x2 -1-2x

flx)=x+5
Find (g - f)(x)
—x>=3x-6

11) gla)=-3a-3
f(a) =a*+5
Find (g — f)(a)

—a*>-3a-8

Name
Date
2) flx)=4x-3
g(x) =x°+2x
Find (f — g)(4)
-59
4) g(a) =3a+2
f(a) =2a—4
. 8
Find [—=|(3
" (f )< )
E
2
6) g(a) =2a-1
h(a) =3a -3
Find (g - h)(-4)
135

8) g(n) =3n+2
f (n) =2n*+5
Find g(f(2))

41

10) f(x)=3x-1
g(x) =x’—x

Find (é)u)

3x—1

2
X —X

12) h(r)=2r+1
gt)=2r+2
Find (h — g)(¢)
-1

Period



13) f(x)=2x>-5x2
g(x) =2x-1
Find (f - g)(x)

4x* —12x° + 542

15) g(a) =-3a*-a

h(a) = —-2a -4
Find (%)(a)
-3a’-a
—2a -4

17) h(a) = 3a
gla)=-a’ -3

Find S)(a)

3a

—a’-3

19) h(x)=x*-2
g(x) =4x+1
Find (h o g)(x)

16x*> +8x—1

21) glx)=2x-2
f(x) =x% + 3x
Find (go f)(-2 + x)

2x2=2x—6

14) h(n)=4n+5
g(n) =3n+4
Find (h — g)(n)

n+1

16) f(n)=2n
g(n) =—n—-4
Find (f © g)(n)

-2n—28

18) g(n)=2n+3

h(n) =n-1
Find (g o h)(n)
2n+1

20) glr)=2t+5
flo)=—1*+5
Find (g + f)(r)

> +2t+10

22) gla)=2a+2
ha)=-2a-5
Find (g o h)(—4 + a)

—4a+ 8
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